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Lte=2 5000.00 | 5000.00 2271} o 684.55 642.35 Xrol 2| 673.14 570.50
LHO|X| 2| Ot 354.66 210.95 e 303.62 303.62 Zhd| ot 402.16 402.16
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Hor= 90.12 44116 NQIE HIME 469.49 469.49 Zte ot 140.91 140.91
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2tEH|o} 118.86 2223.07 AQHAHE 426.79 45348 20 1042.66 786.05
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S0t ot 1083.72 | 1083.72 SEH|L|0} 192.76 960.55 7| 27| =AE 264.84 285.37
SdFE3 90.12 500.70 Al2|ot 303.62 385.74 7|2[H|E| 1083.72 | 1083.72
2ottt 303.62 303.62 Aloilgt 2|2 837.37 5000.00 EFX|7| A Et 41037 570.50
2[H|2F APS) 919.49 960.55 dqrtm=E 75.24 75.24 EFXtL{O} 525.33 586.92
2| FOotL|ot 211017 | 2110.17 MojzZg{ & 118.86 211.24 Ef = 83.88 83.88
2| 5| el Ef 508.91 2531.01 Oftgfoi|of 20| E 318.73 318.73 7| 184.14 385.74
OtC7tAzt2 1699.59 | 1699.59 OfF i 332.36 510.96 HAAO| A 611.55 611.55
OR&FA| 632.08 632.08 Of= 0 L| O} 256.40 549.97 ED 796.31 837.37
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opte 159.92 159.92 ofdzHE 94.22 734.73 EZ|LLIE & EHID 290.28 488.38
Ot =L of 303.62 73473 ObX| 2 H}O| £ 673.14 673.14 mtLfof 242.03 404.21
OtEILA 98.33 718.30 OfZZpL|AEH 580.76 570.50 mtepato| 242.03 354.94
E=] 149430 | 1494.30 orlat 338.52 338.52 b7 | A B 237.85 237.85
B 293.36 580.76 otz 2} 125.02 652.61 IHEOH7| L 4163.06 | 4163.06
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2gj|o| x| ot 92.20 118.10 oFE| O} 330.31 330.31 Zete 878.43 796.31
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3= 126.27 126.27 AMHEE 508.91 508.91 ol x| 673.14 673.14
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of kot 524.88 524.88 2ot 389.84 632.08 aote| 98.33 41242
HFOtE 1042.66 | 1042.66 QAER|O} 106.31 209.34 SES 95.19 256.86
Hefl 2! 194.82 315.94 25eta 426.79 502.75 = 95.29 75.24
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